TOSOOOO Dooon

good gd
Jogog

0014030 314



1 0000

OO00Ooooooooobooooogo pCclOb00DODODODODODODODODO
OOFreeBSD 430 000000000000 0DO0ODOOOOODOODODODODOOO

2 OJOoogooo

e FreeBSD 4.3-RELEASE i386 0 000000 0O!
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I

+usr/

|
+share/

|
+doc/ DO UODOUOODOOODOODO
|

+th/
+manual.ps OO O OO (PostScript 0 0)

|
|
|
| |

| +manual.tex OO OO0 (LaTeXOOO)
|

+

examples/

|
+th/

I
I
I
I
I
I
I
I
I
I
|
I +x.c JO0O0O0O0O0O0OO (cOoOO)
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4 O00O00OoO0OOoogoooo

1. bggoboobogggoo

(a) /usr/src/sys/pci 0000000000000 00000000OO

tds_driver/usr/src/sys/pci/tds.c

tds_driver/usr/src/sys/pci/tdsvar.h

(b) /usr/src/sys/sys 000 0000000000000 000OO0O0O

tds_driver/usr/src/sys/sys/tdsio.h



(c) /usr/src/sys/conf/files.i386 0 0 DD OO0OOOOOOO

pci/tds.c optional tds

(d) /usr/src/sys/conf/majors 0000000000000

222 tds Time Sync Data Sampler (Nitsuki)

(e) /usr/src/sys/i386/conf D0 000000 ODO0O0OOODOOOOOOOOO
godooooooooon

device tds

(f) 0000000000000 0000000O0O0ooOOoO?

# cd /usr/src
# make buildkernel KERNCONF=MYKERNEL

# make installkernel KERNCONF=MYKERNEL

(g) /dev/MAKEDEVOOOOOOO00000000O

tds_driver/dev/MAKEDEV

(h) O0D0O0D0O0D0D0OD0OOO

# cd /dev

# sh MAKEDEV tdsO

0000000000 /dev/tds0o000000O

(i) 000000

000000000000000000000000 MYKERNELOOOOOO



2. 00000goboobooan
0100000000 FreeBSD4300O0O0OUO0OOOOOODOOODOOOODOO
gogooobbobbobbboooobbbbobobobobbooboobbb110o0bbonbn
gbobouooobbooooobbboo

(a) /usr/src/sys/pci 00 0000000000000 0O0OOOOOO

tds_driver/usr/src/sys/pci/tds.c

tds_driver/usr/src/sys/pci/tdsvar.h

(b) /usr/src/sys/sys 00 00000000000000000000

tds_driver/usr/src/sys/sys/tdsio.h

(c) /usr/src/sys/conf/files.i386 0 0 0 OO OO0 O0ODOOO0

pci/tds.c optional tds

(d) /usr/src/sys/conf/majors 0000000000000

222  tds Time Sync Data Sampler (Nitsuki)

(e) /usr/src/sys/modules/Makefile 00 0000000000000

tds_driver/usr/src/sys/modules/Makefile

(f) /usr/src/sys/modules/tds 000000000000

(g DO (H)oOOOODODUDODU0OOOOOOOODODOOOoDOOoOoDOO

tds_driver/usr/src/sys/modules/tds/Makefile

(h) DODOO0O0OO0DDO0DO0O0O0DOOoOOOOO



# cd /usr/src/sys/modules/tds
# make

# make install

(i) /dev/MAKEDEVOO00000000000000

tds_driver/dev/MAKEDEV

(jbooobooooooOoOoo

# cd /dev

# sh MAKEDEV tdsO

0000000000 /dev/tds0o000000O

(k) 000000000000

# kldload tds

o HUuboooooboodouodnd
5.1 UUOUoobooooobbod

1. open()
2. close()
3. read()
4. ioctl()

5. write()?

300000000000000000000 write)0O0DDODODD0D0O0OO0O0O00DOOOOOOOO
oo



5.2 LOUOOOOODOOO

OOo0odbooooooobobooouoooooooobooo0oooobOFreeBSD
gbobbuogogbbobuoooobobboo

1. open()
gboboobobuogobobobbobuoobboobobbobobooobuoobob
goggoobbbbooobbbbbbobbbdddudoooooooooono
ORDONLYUOOODOODOODODOODOOODODODOODOOODopen()000O0O0OOODO
O00000O0O0open() 0000000000000 O0ODOOOOOOOOOOO

(ooo)

int fd;

fd = open("/dev/tds0", O_RDONLY);

2. close()
O000000000000000010o0pen()0000000O00ODOOOCODODOO
guoooog

ooo)

close(fd);

3. read()
00000000000000000000000000 10 open() 00000
gobboboobbddoduogdddoooooubooobobbbooooubboo
0(O000)000000000000000000O00O0(OOO0)0oooO0O0
000000000000 read()000000000000000ODO0O read()O
guoddgooooooobbbboooooooooo



(ooo)

int nread;
unsigned int buffer[1024];

int nbyte = sizoef (buffer);

nread = read(fd, buffer, nbyte);

. ioctl()
O0000000000000001000010o0pen()000000000O0DODOO
gootoob2o0boudddoogooooooooog sgugnoonbooobooon
gooogooooooobobon

(a) 00O
000000000000000000000020000 TDSIOINIT O
0000000000000000000000000

e 000D ODUIODODDDODODODOOODO (4hO D)

1PPSO00OO0OOOOOOODO (4c00)
e 00DDDDOOIODODDODO (4d0DO)

e I000DODODOODODDDODODO (4ed D)

O0000000000000 (AmO0O)

e FIFOUDDODDOOODOOODODODOODDODODODODO (4000)

ooo)

ioctl(fd, TDSIO_INIT);

(b) 0000 FIFOO OO
00000 FIFOOOODOOOOD 20000 TDSIO.BUFFER_CLEAR
0ooooo



(ooo)

ioctl(fd, TDSIO_BUFFER_CLEAR);

(c) 1IPPSO0O
00 1PPSO00000O0D0O0000O00 20000 TDSIO_SYNC_1PPS
00000000 1PPSO00000O0O0OOOOOOOOOOOOO0O00000

(ooo)

ioctl(fd, TDSIO_SYNC_1PPS);

(d) 0000
000000000000000000 20000 TDSIO_SYNC_TIME O
0000000000000000000000000000000000

ooo)

ioctl(fd, TDSIO_SYNC_TIME);

(e) 000D
0000000000000 20000 TDSIOSET_TIMEOOO 3000
000000000000000000 (32bit)00000000000
000000000 17000 (0bit-16bit) 0 00:00:000 0 000 00 018bit-
27bit(9bit D)0 10 1000000000000004

goddododooooooooooooooo
=== 0O |
TDS_MAKE_TIME(day, sec) |day(10 100000000)0

sec(00:00:00 D00 O0O0O) O
gogobobouogogooo

‘{000000000000000000000000000



(ooo)

/* 2000/09/22 14:39:2800 000000 =*/
unsigned int time;
unsigned int day;

unsigned int sec;

day = 31 + 29 + 31 + 30 + 31 + 30 + 31 + 31 + 22;

sec ((14 * 60) + 39) * 60 + 28;

time = TDS_MAKE_TIME(day, sec);

ioctl(fd, TDSIO_SET_TIME, &time);

(f) 0000
0000000000000000020000 TDSIO_GET_TIME QD OO
300000000000000000000 (32bit)00000000000
0000000000000004e00000000000000

Joodoooooooonooooogg

0oo |00

TDS_GET_SEC(arg) 00 arg 00O 00:00:00 0000
gooooboooood
TDS_GET_SEC_CARRY (arg) U0 argU0O00ooooonOO
goobooobboooub oo
gigdog
TDS_GET_DAYS(arg) U0argU0 101000000
gooooooood
TDS_GET DAYS CARRY (arg) | U0 arg0 0000000000
gooboboobboooboobn
giogoog

(ooo)

unsigned int time;



unsigned int day;

unsigned int sec;

ioctl(fd, TDSIO_GET_TIME, &time);

day = TDS_GET_DAYS (time) ;
sec = TDS_GET_SEC(time);
(g) 00000

OooooooooooooobooboobobD 20000 TDSIO_.GET_YEAR
000300000000000000000000 (32bit)0 000000
oooos

(ooo)

unsigned int year;

ioctl(fd, TDSIO_GET_YEAR, &year);

(h) 00000000
0000000000000/0000/00000000000020000
TDSIO_SET_SAMPLING 000 3000000000000000000
000 (32bit) 00000000000
00000000000000000000000000000000000
0000000000

0000000000000000000D00000D0000000000000000000000
gooooobo

10



e DO
gogoboboooog (gobooo

40kHz TDS_SAMPLING _40KHZ
100kHz TDS_SAMPLING_100KHZ
200kHz TDS_SAMPLING_200KHZ
500kHz TDS_SAMPLING_500KHZ
1MHz TDS_SAMPLING_1MHZ
2MHz TDS_SAMPLING_2MHZ
4MHz TDS_SAMPLING_4MHZ
8MHz TDS_SAMPLING_8MHZ
16MHz TDS_SAMPLING_16MHZ
e UDOODOO

goooboobob |bobod

1bit TDS_SAMPLING_1BIT
2bit TDS_SAMPLING_2BIT
4bit TDS_SAMPLING_4BIT
8bit TDS_SAMPLING_8BIT

e JOOOOODOS
‘DDDDDDDDDDD googo
1ch TDS_SAMPLING_1CH
4ch TDS_SAMPLING_4CH
(ooo)

/* 1MHz/1bit/4ch OOQOQOQOQOO =*x/

unsigned int samp;

samp = TDS_SAMPLING_1MHZ | TDS_SAMPLING_1BIT | TDS_SAMPLING_4CH;

ioctl(fd, TDSIO_SET_SAMPLING, &samp);

goboooboogon
Ooobbooooooooobobog 20000 TDSIO_.GET_SAMPLING
00030000000000000000000 (32bit)0000000O0

64ch 00O
goooono

gboboboboobooooboooooboboobobOoboooooooooooooboon
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oooooooboboobobobooboo4hboboboooboboboon
gbobobooggbbbodgo
goboboggdoooogggoood

000 0O

TDS_GET_SAMP _FREQ(arg) O0arg0 00000000000

TDS_ GET SAMP WIDTH(arg) |00 arg0 000000000000

TDS_GET_SAMP _CH/(arg) U0 argUU0DO0OOOOoobooOoOoO

(ooo)

unsigned int samp;
unsigned int freq;
unsigned int width;

unsigned int ch;

ioctl(fd, TDSIO_GET_SAMPLING, &samp);

freq = TDS_GET_SAMP_FREQ (samp) ;
width = TDS_GET_SAMP_WIDTH(Samp);

ch = TDS_GET_SAMP_CH (samp) ;

if (freq == TDS_SAMPLING_4MHZ) {
/* 4MHz */
}

() 00000000
000000000000000000 20000 TDSIO_GET_STATUS
00030000000000000000000 (32bit)00000000
ooor

"000000000000000000000000000000000O0O00aQ

12



(k)

)

(ooo)

unsigned int stat;

ioctl(fd, TDSIO_GET_STATUS, &stat);

gooboogd
OOooboobobooboooobog 20000 TDSIO_SAMPLING_START
goooog

(ooo)

ioctl(fd, TDSIO_SAMPLING_START);

gboooboogd

Oooboboboboboobobo 20000 TDSIO_SAMPLING_STOP O
gobooo

000000 PCOOOOO0OO0O0OOOopen()0 000000000000
gbobbboooobbbuoooobbbooogboo

(ooo)

ioctl(fd, TDSIO_SAMPLING_STOP);

goboooodg
Ooobbooooobooooobboooobbooon 20000 TDSIO_.GET_ERROR
000300000000000000000 (32bit)000000000O0O0O

OO0 pPCOOU0O0OOO0OOOOODO4a0b OO0 OobOooboOon
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gobobobbooogoobobboooooobobbooooooobooo
gbobbbbbooogobobobbooooobbbobbbooooobbobobo
gogobbbbooogooboobotboogoooobbooooooboobo
gbobbouogobbboooobbbog

Doo00ooooooooooooo?
goooD |obodg

0 000000 (0o)

1 00000000000000000

2 000000000000000000000000
0o

3 0000000000000000000000000
000000000000000000

4 0000000000000000000000000
00000000000000000

5 00000000 (000/0000/00000)00

0000000000000000000000000
000000000000

00000 FIFOOOOOOO0O00000

00 1PPSO00000O0O0OOCOOOO0O

00 10MHzO0OOOOOOOOOOOOO
000000000000000000

10 IPPSO000000OOOOO0O0O0O0OOO1PPSO
000000000000000

11 0000 (00000000)00000000000
0000000000 (00000000)00000
000000000

12 00000000 read()0000000000000
Oread() 000000000

N=Re R f i =p

(ooo)

int err;

ioctl(fd, TDSIO_GET_ERROR, &err);

8 tds_driver/usr/src/sys/sys/tdsio.h O O
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(n) FIFOOOOOOOODOODOOOOOO
OOo0O0o0FIFOOOODODOOOOOODODODOODODOOOOoOOooDoDbOoDO
OOooooorrFrO0b0dbDOoOOobOOoooooboobooboboobooboDn
gobboogobobooogbobooogobooo
020000 TDSIOSET_ ALLOW_OVERFLOWUOOO 3000000
0000000000000 (32bit)D00000O0O0OOOO
gboobboobooobudgbieugbuodbboobooobaann
goboboooggbobbuooooobod

(ooo)

int count = 128;

ioctl(fd, TDSIO_SET_ALLOW_OVERFLOW, &count);

(o) FIFOOOOOOOOOOOO
0000000000000 FIFOOOOO0O0000000000000000
0000000004a000000000000000000
020000 TDSIO_.GET_OVERFLOW_COUNT OO0 3000000
000000000000 (32bit)00000000000

(ooo)

int count;

ioctl(fd, TDSIO_GET_OVERFLOW_COUNT, &count);

15



6 UUOoooogon

O0000000000000000000000008MHz/1bit/1lch0 000000
gbbbuoooobbbooobbbbuooobbbuoooobbob

#include <stdio.h>
#tinclude <errno.h>
#tinclude <fcntl.h>
#include <unistd.h>
#include <sys/stat.h>
#include <sys/tdsio.h>

int main(void)

{
char dev[] = "/dev/tds0";
char outfile[] = "./tds.data";
int fd_in;
int fd_out;
mode_t ofilemode = S_IRUSR | S_IWUSR | S_IRGRP | S_IROTH;
int rv;

u_int32_t sampling;
u_int32_t buf [BUFSIZ * 2];

/[ OO00000000 %/
fd_in = open(dev, O_RDONLY);

if (fd_in == -1) {
perror("device open() error ");
return -1;

}

/[ 00000000000 x/
fd_out = open(outfile, O_WRONLY | O_CREAT | O_TRUNC, ofilemode);

if (fd_out == -1) {
perror ("output file open() error");
goto end;

}

/* 00000000 =/
sampling = TDS_SAMPLING_1MHZ | TDS_SAMPLING_1BIT | TDS_SAMPLING_4CH;
rv = ioctl(fd_in, TDSIO_SET_SAMPLING, &sampling);

if (rv == -1) {
perror("ioctl() sampling set failed ");
goto end;

}

16



else {
printf("ioctl() sampling set succeed\n");

by

/¥ 0000 FIFOODO */
rv = ioctl(fd_in, TDSIO_BUFFER_CLEAR);
if (rv == -1) {
perror("ioctl() FIFO clear failed ");

goto end;
}
else {

printf ("ioctl() FIFO clear succeed\n");
+

/* 1PPSO 0O x/
rv = ioctl(fd_in, TDSIO_SYNC_1PPS);
if (rv == -1) {
perror("ioctl() 1pps sync failed ");
goto end;
}
else {
printf("ioctl() 1pps sync succeed\n");
}

/* OOoOgd x/

rv = ioctl(fd_in, TDSIO_SYNC_TIME);

if (rv == -1) {
perror("ioctl() time sync failed ");
goto end;

}

else {
printf("ioctl() time sync succeed\n");

}

/* 00000000 */
rv = ioctl(fd_in, TDSIO_SAMPLING_START);
if (rv == -1) {
perror("ioctl() start sampling failed ");

goto end;
}
else {

printf("ioctl() start sampling succeed\n");
}

/[ 0O00O0ogog =/
{

17



int ¢ = 0;
while (c < BUFSIZ x BUFSIZ) {
int nbyte = sizeof (buf);

rv = read(fd_in, buf, nbyte);

if (rv == -1) {
perror("read() failed ");
goto end;

}

/[ 00000000 =/
rv = write(fd_out, buf, rv);
Cc ++;

}

/* 00000000 */
rv = ioctl(fd_in, TDSIO_SAMPLING_STOP);
if (rv == -1) {
perror("ioctl() stop sampling failed ");
goto end;
}
else {
printf("ioctl() stop sampling succeed\n");
}

/x 00000000000 %/
close(fd_out);

end:
/[ 000000000 */
close(fd_in);

return rv;

v ODoggd

gbbobuoooobbooooobbbooobbboooobo

7.1 JOO0ogor

gbobboogoobbuoooobobooobooboaon
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1. /usr/src/lib/libtds 000000000000

2.1000000000000 tds_driver/usr/src/lib/libtds 000000000
00000000000000

tds_driver/usr/src/lib/libtds/libtds.c

tds_driver/usr/src/lib/libtds/Makefile

3. /usr/src/lib/Makefile 0 0 00O O tds_driver/usr/src/lib/Makefile 0 00 00O
HRN

4. J0b0obDoooooboboooobbn

# cd /usr/src/lib/libtds
# make

# make install

7.2 UJOooodd

gbboooggobbuooooboboooobbbuooobobon

e <sys/tdsioh>0000000000
goooooon
#include <sys/tdsio.h>
ogoooon

e libtdsD OO OIDOODO
oohoooobooobo-kdsCOOOOO

3 Uooouoboognd

gbbouooobboooobbbbogood
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1. TdsOpen()

N

w

4. TdsClrBuffer()

(924

goboodogdggooood

o1

char *(O0OD) |00000000O00OONULLOOO

00000000007 /dev/tds0” O
00oo00

000 | tdsdev_t *

gddddooooooooooada
gddddooooooooooada
O0b00bNULLODODODOOOoooo
godgboooboooooooog
gbbooodgobood

. TdsClose()

goboodggdggooog

| 001 |tdsdevt * | 10 TdsOpen() J00000000000 |

|ooo |

int

\DDDDDODDDDDD

. TdsInit()

goboodgodoooaggn

|00 1 |tdsdev_t * |10 TdsOpen() J0OD0DO0000000O |

goo

int

gbooogoodbuodgbdobbododd
goobooood

OO0o00do FIFOOODODOOOO

|00 1 |tdsdev_t * |10 TdsOpen() 000000000000

goo

int

gbooggoodbuooboobbododnd
gbooobooogn

. TdsSynclpps()

goi1PpPSOD0OO0O0OOOOOOO

|00 1 |tdsdev_t * |10 TdsOpen() 000000000000

goo

int

gbooggoodbuooboobbododnd
gbooobooogn

. TdsSyncTime()

gobooboggdoooogdno

|00 1 |tdsdev_t * |10 TdsOpen() 000000000000

goo

int

gbooogoodbuodgbdobbododd
goobooood
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7. TdsSetTime()
Joooooooooon

00 1 | tdsdev_t *

10 TdsOpen() DO O OOODOOODO
HRN

00 2 | tds_time_t *

gubbdgbdgbobobobooogo
OOONULLOOODOOooooSooon
gbobogogobog

OO0 |int

gogboogobobboobodoon
gbobooodgon

tds_time t OO0 0O O0O0OO00OOOO

struct tds_time {
int sec;
int sec_carry;
int day;
int day_carry;

+;

typedef struct tds

_time tds_time_t;

sec 00:00:00 T

gobooogg

secccarry | U0OO0OO0O0OO0O O0OO0ODOOOOD10000000
gbbogobogbobobooooobgboonooo
ggoooo

day 101000000004

day carry |day0 OO0 QO0oopoooopoooi1ooooood
gbogobogbobboboboobooobbo
ggoooo

8. TdsGetTime()
googggoooooon

gooobog

00 1 | tdsdev_t *

10 TdsOpen() 0000000000
0o

00 2 | tds_time_t *

gooobbbdoouoboboooon
HRN

OO0 |int

gogboogobobboobodoon
gbobooodgon

tdstime t OO0 O0DO0O0O0OO0O7Y0O00O0O

21




9. TdsGetYear()®
0000o0o000o0o000oonoonnn

00 1 | tdsdev_t * 10 TdsOpen() 0O OODOOOOOO
g

002 |unsigned int * | 00 00000000000O0OOO
gogoo

OO0 | int gogdgdgoboooobuoudagdy
ogdbobobooood

10. TdsSetSampling()
Jooogdoooooog

00 1 | tdsdev_t * 10 TdsOpen() DO DO DOODODOOODO
g

002 |tdssamp t * | 0000000000000 O0O0O0OO
goobooogn

OO0 | int gbgboooudobudbobbobob
gobobooood

tdsssamp t DO OO OOOOOOO

struct tds_samp {
int freq;
int unit; /* k> or M’ %/
int width;
int channel;

};

typedef struct tds_samp tds_samp_t;

0000000000000000000000000D00000000000

22



frequnit |0 O O O O O O 0O O O0O0ODO O 0O
ooo freq | unit

40kHz | 40 ’k’
100kHz | 100 | ’k’
200kHz | 200 | ’k’
500kHz | 500 | ’k’
1MHz |1 "M’
2MHz |2 "M’
4MHz |4 "M’

8MHz |8 "M’
16MHz | 16 "M’
width g oboduogboobbobdobobdb

Oooo0d | width

1 1

2 2

4 4

8 8

channel 000 000o0QUoooooooaoao
OO00O0O0 | channel

1 1
4 4

11. TdsGetSampling()
goboouoggboogggoooogg

00 1 | tdsdev_t * 10 TdsOpen() DO DO DOODODOOODO
g

002 |tdssamp t * | 0000000000000 O0O0O0OO
gooboogd

OO0 | int gbgboooudobudbobbobob
gobobooood

tdssamp t OO0 0000000720000

12. TdsStatus()
godoooooobbbbbuooooooooo

23



00 1 | tdsdev_t *

10 TdsOpen() 0O OODOOOOOO
g

00 2 | unsigned int *

gddododooooooooogg
googdoououoouoouoooooon
gooodoooooouoaaooan
gogoo

OO0 | int

gogdgdgoboooobuoudagdy
ogdbobobooood

13. TdsStart()
Joooooooooon

|00 1 |tdsdev_t * |10 TdsOpen() 000000000000

OO0 |int gbooggoodbuooboobbododnd
gbooobooogn

14. TdsStop()
godggdooooon

| 001 |tdsdevt * |10 TdsOpen() 000000000000

OO0 | int gbooogoodbuodgbdobbododd
goobooood

15. TdsGetData()

00000000000 (4000)00000oooo

00 1 | tdsdev_t *

10 TdsOpen() 0O OODOOOOOO
g

00 2 | unsigned int *

gddododooooooooogg
goooo

OO0 | int

gogdgdgoboooobuoudagdy
ogdbobobooood

16. TdsRead()

gboboogooboooogooo
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b1

tdsdev_t *

10 TdsOpen() 0O OODOOO0OOO
HEN

g 2

int *

gooddodoodoooooooo
gooogubodoboobgogooobod
goboogubodbdgogooang
gobobbooogobood

oo 3

unsigned char * | 00000000000 ((OOO0O) O

gobobooggoobooo

goo

int

gogoogouuuuoouggogo
ogogobboooon

17. TdsError()

gooogogooog

001 | tdsdevt * |10 TdsOpen() 000000000000

00 2 | int * gbogbobooboobagbuogboo
gooboogd

00 3 | char * gbooogobodboboobobodgooo
gbobobooogn

OO0 |int gbooggoodbuooboobbododnd
gbooobooogn

74 UOO0U0o0oboooooobbuoooooon

#include <stdio.h>
#include <fcntl.h>
#include <unistd.h>
#include <sys/stat.h>
#include <sys/types.h>
#include <sys/tdsio.h>

int main(void)

{

tdsdev_t *tdsdev;
tds_samp_t sampling;
char outfile[] = "./tds.data";

int fd;

mode_t ofilemode = S_IRUSR | S_IWUSR | S_IRGRP | S_IROTH;

int rv;

unsigned char buf [BUFSIZ * 2];
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/ 000000000 =/

tdsdev = TdsOpen(NULL) ;

if (tdsdev == NULL) {
perror ("TdsOpen() error ");
return -1;

by

/¥ O0000000ogo =/
fd = open(outfile, O_WRONLY | O_CREAT | O_TRUNC, ofilemode);
if (fd == -1) {

perror ("output file open() error");

goto end;

}

/ 00000000 =/

sampling.freq = 16;

sampling.unit = ’M’;

sampling.width = 1;

sampling.channel = 1;

rv = TdsSetSampling(tdsdev, &sampling);

if (zv 1= 0) {
perror ("TdsSetSampling() failed ");
goto end;

by

/* 0000 FIFOOOO */

rv = TdsClrBuffer(tdsdev);

if (zrv = 0) {
perror ("TdsClrBuffer() failed ");
goto end;

}

/* 1PPSO 0O */

rv = TdsSynclpps(tdsdev);

if (rv '= 0) {
perror ("TdsSynclpps() failed ");
goto end;

}

/[ 0000 @sOoooooooooooong) =/
rv = TdsSetTime (tdsdev, NULL);
if (rv !=0) {

perror ("TdsSetTime() failed ");

goto end;
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/* 00000000 =/
rv = TdsStart(tdsdev);
if (zrv = 0) {
perror ("TdsStart() failed ");

goto end;
}
/[ 00000000 %/
{
int ¢ = 0;
while (¢ < BUFSIZ * BUFSIZ) {
int nbyte = sizeof (buf);
rv = TdsRead(tdsdev, &nbyte, buf);
if (rv !'=0) {
perror ("TdsRead() failed ");
goto end;
+
/¥ 00000000 =/
rv = write(fd, buf, nbyte);
c ++;
+
}

/[ 0O00O0ogog =/

rv = TdsStop(tdsdev);

if (rv !=0) {
perror ("TdsStop() failed ");
goto end;

}

/x O0000000000 %/
close(£fd);

end:
/[ 00000 O0ooOo /
TdsClose(tdsdev);

return rv;
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